Slope-Intercept Worksheet REDO

Name: “EY

Section 1: Graphing from Slope-intercept Form

Graph each equation.
la)y = —4x+ 2 2a)y=%x-—5

5
1b)y=EX"—1 2b)y=lx40

Draw 2 graphs on each coordinate plane.

3a)y=2x+8
3b)y=-x—-3

10} |
‘ af A
L] | : G: » B
g D afF ' J-1
_-;ilJll.l = 1¥;Lll‘lllll _1i||l‘111il:’
-10. -8 5 10 -T.U 8 -6 -4 -2 2 4.6 8110

T 1T 17

Section 2: Writing Equations in Slope-Intercept Form

Write an equation in the formy =mx + b.
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Section 3: Slope-Intercept Form without Exact Graphs

For 5-7, choose the equation that could represent the graph. EXPLAIN YOUR REASONING FOR EACH ONE.
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For 8-10, choose the graph that could represent the equation. EXPLAIN YOUR REASONING FOR EACH ONE.

8)y=2x—25 9)y=—2x—3 10)y = 5x + 4
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For 11-14, match the graphs with the equations. EXPLAIN YOUR REASONING!

1)y =3x+64 = I K L. ; 4
12)y =2x+6M )

13)y=3x—6K /
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Section 4: Slope-Intercept Story Problems
15) The height of a tree y can be modeled by y = 5 + 4x, where x is the number of years after it was planted.
a. Make a table representing the height from year 0 to year5.
b. What is the y-intercept of the equation? What does this represent in the situation?
c. What is the slope of the equation? What does this represent in the situation? i 3

16) You are buying chairs online. Each chair costs the same amount, and you also have to pay for shipping. The total
cost, y, can be modeled by the equation y = 25x + 8, where x is the number of chairs.

a. Make a table representing the total cost of buying 1, 2, 3, 4, and 5 chairs. 5 7M)-;:,
b. What is the slope of the equation? What does this represent in the situation? 29, oot pl’(ch"lr ; 5%

¢. Would the equation make sense if you bought 0 chairs? Why or why not? 3 K3
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